ABCiE MEZE
- ifgm?’P. Icf#“&?ib T\b
_'_." ’ T o \ "|
* — g
SEESHIM S LAES UAIE:=
=0l 2| / POMEA

FX| / POMHH A

SUS304
LT .

Jjow
_|_)||_|

1=
C 5
o —
]

hu

H1

SUS304

Set Collar
707 B3

IWATA Set Collar

www.spctech.co.kr



"
diwarta

SC

NEZzZ}

A EH

L ] &2

CIE ME

Set Collar

f 1

J

o SUS304 A20lE 4% / POMH#Y
S FENEERE xS
c] | A=l sa5c/ B3N SZINR| HELIAL (BEH) 29} =
U | A= s45C / aE=ZuA SR HELIAL (SUSXM?) 271 &
M| | A S45C / Rs LAES SZUE| HELIA (SUSXM?) 274 SC0305
NJ ALl 8§45C / LIZIEES SR HELIAL (SUSXM7) 27K ABCIE MEZE} WZ 3mm, = 8mm, A
S| SUS304 S| HELIAL (SUSXM7) 274
Al L20|F A2017 / - SZHX| HELIAL (SUSXM7) 274
X +X| / POM (#iA) / — SR HELIAL (SUSXM7) 27K
Heimm
L+0.1
L/2
2-M (120°)
S £
8 9| Tol
= o __| r -
30’
% 2O oDi7t [—1Q A= 30°HFIH AFLICH )
Wz | = | 4z | BNz zeun T e o
E-3 S X =-Lo I=Il_3 = X
B L #D | ¢D1 M s 54 Hi Al LdEg | a=cg | SUSS04 | A2017 T (EAl)
[ m] N] [s]
5 7 *M3 X 3 | SC 0305
3 6 7 | — [ %M3x 3] sC0306[]
6 | 10| — [*M3x 3[SC0306[]
8 7 | — [ %M3x 3]|sC0308]
5 8 | — |%M3x3|SC0405]
4 6 | 12 | — | *M4 x 4|SC0406[]
6 | 12| — [%M3x 3[SC0406[]
8 | 12| — [%M4 x4|SC0408]
5 | 11| — [*M3x 3][SC0505]
5 6 | 14 | — | *M4 x4 |SC0506[]
8 | 14 | — [%M4 x 4][SC0508[]
10 | 14| — [*M4 x4[SC0510(]

E 708 ‘IWATA Set Collar

Good Solution Leads To a Great Quality...



SPL

2| 3 FEilsES
g Z | d | HyHZF | HELIA ===
= =3 3EEZ | 2 4 2%
o8 | L | oD | o1 " E =M %‘.ﬂ Hes EEI'EEE sugm A2|%|17 T(Ll/,!.ﬁ_%M
c
5 12 — M3 X 3 | SC 0605 ]
6 6 15 = %M4 X 4 | SC 0606/ |
8 15 — M4 X 4 | SC 0608[ ]
10 16 — %M4 X 4 | SC 0610[ ]
5 14 — M3 X 3 | SC 0805[ ]
6 16 13 M4 X 4 | SC 0806[ ]
8 8 16 13 M4 X 4 | SC 0808[ ]
8 18 = M4 X 4 | SC 0808[ ]
10 18 13 M4 X 4 | SC 0810[]
5 16 = M3 X 3 | SC 1005[ ]
6 18 16 M4 X 4 | SC 1006[ ]
10 8 18 16 M4 X 4 | SC 1008[]
8 20 - M4 X 4 | SC 1008[ ]
10 20 16 M4 X 4 | SC1010[]
6 20 — M4 X 4 | SC 1206[ ]
8 22 20 M4 X 4 | SC 1208[ ]
12 8 22 — M4 X 4 | SC 1208[ ]
10 26 20 M5 X 6 | SC1210[]
12 26 20 M6 X 6 | SC1212[]
6 20 = M4 X 4 | SC 1306[ ]
13 8 22 20 M4 X 4 | SC 1308[ ]
10 26 20 M5 X 6 | SC 1310 ]
14 12 26 20 M5 X 6 | SC1412(]
6 24 = M4 X 4 | SC 1506 ]
8 25 24 M5 X 6 | SC 1508[ ]
15 10 25 24 M5 X 6 | SC1510[]
10 28 - M5 X 6 | SC 1510 ]
12 28 24 M5 X 6 | SC 1512[]
6 24 — M4 X 4 | SC 1606[ ]
8 28 24 M5 X 6 | SC 1608[ ]
16 10 28 24 M5 X 6 | SC1610[]
10 30 = M5 X 6 | SC1610[]
12 28 24 M5 X 6 | SC1612[]
17 10 30 26 M6 X 6 | SC1710[]
12 32 26 M6 X 6 | SC1712[]
18 15 32 29 M6 X 6 | SC 1815 ]
7 30 — M5 X 6 | SC 2007 ]
10 32 29 M6 X 6 | SC 2010[ ]
20 12 32 29 M6 X 6 | SC 2012[]
12 34 = M6 X 6 | SC 2012[]
15 32 29 M6 X 6 | SC 2015 ]
22 18 38 34 M8 X 8 | SC 2218[ ]
12 38 37 M6 X 6 | SC 2512[]
o5 12 38 — M6 X 6 | SC 2512 ]
15 38 37 M6 X 6 | SC 2515 ]
18 42 38 M8 X 8 | SC 2518[ ]
28 18 45 40 M8 X 8 | SC 2818[ ]
12 45 = M6 X 6 | SC 3012[]
14 45 42 M8 X 8 | SC 3014[]
30 16 45 42 M8 X 8 | SC 3016[ ]
18 49 42 M8 X 8 | SC 3018[ ]
20 49 42 M8 X 8 | SC 3020[ ]
32 20 53 44 M8 X 8 | SC 3220[ ]
15 50 47 M8 X 8 | SC 3515[ ]
35 18 55 47 M8 X 8 | SC 3518[ ]
20 59 47 M8 X 8 | SC 3520[ ]
38 22 64 50 |[M10 X 12| SC 3822[ ]
40 18 60 55 |[M10 X 8 | SC 4018 ]
22 72 55 |M10 x 12| SC 4022[ |
45 22 75 60 [M10 X 12| SC 4522[ ]
50 20 70 65 |[M10 X 8 | SC 5020 ]
25 79 65 |[M10 X 12| SC 5025[ ]
55 28 81 70 |M12 X 12| SC 5528[ ]
60 28 88 75 [M12 X 12| SC 6028[ ]
65 28 94 85 |M12 x 12| SC 6528[ |
70 32 113 90 |M16 X 16| SC 7032 ]
75 32 119 95 |[M16 X 16| SC 7532 ]
80 32 126 105 |M16 X 16| SC 8032[ ]
*H= HELAZL 1IHLICE
www.spctech.co.kr IWATA Set Collar| 709 E




s
diwarta

Set Collar

=N \
|.‘:f—h ‘,_
, = \\j
Eatay SUS304 S| / POMHA
M7= A / ZHAE 2E&£E 20l
C] | A2 s45C / BEM STRARILAL (BEHM) 2
L= I 1 197]=
V| AE S45C / AE=ZHM SZHX|LIAL (SUSXM7) 274
M | AR s45C / RS LIRS SUUK|LIAL (SUSXM7) 274 SCS0308
N AR 845C / YRS EES SZU-IZ|LEAL (SUSXM7) 271 AHCIE 2223} WZ 3mm, = 8mm, SEA
S| SUS304 SZHXILIAL (SUSXM7) 27K
Al | Z20lE A2017 / - SZUURILLAF (SUSXM7) 27
X +X| / POM (H§A4) / — SZUHX|LIAL (SUSXM7) 27K

EHel:mm

#D

L/2 Y
L+0.1
¢B 3t
@B Sit
®3-6 | 1607
0845 | 1501
50~120| $ 909 )

E 710 ‘ IWATA Set Collar Good Solution Leads To a Great Quality...



SPL

FERIISES
g | = | 24 E= . 2| o 7 A
] N | [ | [A

3 8 15| 1 4.5 3 45 | M3 x 8 | SCS 0308[ |
4 8 15| 1 4.5 g 45 | M3 X 8 | SCS 0408[ |
8 20 | 1 6 4 7 M3 X 10| SCS 0508 ]
10 20 | 1 4 6 M4 X 10| SCS 0510 ]
6 8 20 | 1 6 4 7 M3 x 10| SCS 0608[ ]
10 20 | 1 6 4 6 M4 x 10| SCS 0610[]
8 25| 1.5 8 5 7 M3 X 10| SCS 0808[ ]
10 25| 1.5 8 5 9 M4 x 12| SCS 0810[ ]
81| 10 25| 15 8 5 - M4 x 12| SCS 0810[]
12 28 | 1.5 8.5 5 10 M5 X 16| SCS 0812[ ]
15 30| 1.5 9 5 110 M6 X 15| SCS 0815[ ]
10 30| 1.5 9 5 11 M4 X 12| SCS 1010[]
10 12 28 | 1.5 9 5 — M4 x 12| SCS 1012[]
12 30| 1.5 9 5 11 M5 X 16| SCS 1012[]
15 35| 15| 10 6 12.5 | M6 X 18| SCS 1015
10 30| 1.5 | 10 5 11 M4 x 12| SCS 1210[]
12 12 30| 1.5 | 10 5 11 M5 X 16| SCS 1212[]
12 30| 1.5 | 10 6 = M4 x 12| SCS 1212[]
15 35| 15 | 11 6 | 125 | M6 X 18| SCS 1215 |
10 30| 1.5 | 10 5 11 M4 x 12| SCS 1310[]
13| 12 30| 1.5 | 10 6 — M4 x 12| SCS 1312[]
15 35| 15 | 11 6 12.5 | M6 X 18| SCS 1315 |
10 32| 15 | 11 6 11 M4 x 12| SCS 1510 ]
12 35|15 | 12 6 13 M5 X 16| SCS 1512[ ]
15| 12 35| 15 | 12 6 — M4 X 15| SCS 1512[]
15 40| 1.5 | 13 8 1) M6 X 20| SCS 1515 ]
15 40| 1.5 | 13 8 — M5 X 20| SCS 1515[ ]
10 35| 15 | 12 6 | 13 M4 x 12| SCS 1610[]
16 12 35| 15 |12 6 13 M5 X 16| SCS 1612[]
15 40| 1.5 | 13 8 13 M6 x 20| SCS 1615[ ]
15 40| 1.5 | 13 8 — M5 x 20| SCS 1615[ ]
17| 15 40| 1.5 | 13 8 13 M6 x 20| SCS 1715 ]
18| 15 45| 1.5 | 15 8 15 M6 X 20| SCS 1815 ]
10 40| 1.5 | 14 7 15 M4 X 16| SCS 2010[]
20 12 40| 1.5 | 14 7 15 M5 X 16| SCS 2012[ ]
15 45| 1.5 | 15 8 15 M6 X 20| SCS 2015[ ]
15 49| 15 | 16 8 — M5 X 20| SCS 2015[ ]
12 45| 1.5 | 17 7 18 M5 X 16| SCS 2512 ]
25| 15 50| 1.5 | 18 10 18 M6 X 25| SCS 2515[ ]
15 54| 1.5 | 20 6 = M5 X 20| SCS 2515[ ]
30 15 55| 15 | 20 10 — M6 X 25| SCS 3015[]
15 60| 1.5 | 21.5 8 = M5 X 25| SCS 3015[ ]
35| 15 60 | 2 23 12 - M6 X 25| SCS 3515[ ]
40| 18 70| 2 26 13 = M8 X 30| SCS 4018[ ]
45| 18 75| 3 28 14 — M8 X 30| SCS 4518[]
50| 22 85| 3 32 16 — |M10 X 35| SCS 5022[ |
55| 22 90 | 3 34 18 — |M10 x 35| SCS 5522[ ]
60 | 22 95 | 3 &7 18 — |M10 X 35| SCS 6022 ]
65| 25 105 | 5 40 18 — |M12 X 40| SCS 6525[ ]
70| 25 110 | 5 43 18 — |M12 X 40| SCS 7025 ]
75| 25 115 5 45 20 — |M12 X 40| SCS 7525[ ]
80| 32 | 130 | 5 50 22 — |M16 x 50| SCS 8032[ ]
90 | 32 140 | 5 55 24 — |M16 x 50| SCS 9032[ ]
100 | 36 | 150 | 5 60 26 — |M16 X 50|SCS 10036[ |
110 | 36 170 | 5 70 28 — |M16 x 50|SCS 11036[ |
120 | 36 | 180 | 5 75 30 — |M16 x 50|SCS 12036[ |

www.spctech.co.kr IWATA Set Collar| 711 E




s
diwarta

Set Collar

Xt
=t

Jlob

A
Al

Y NENEELRE] 52 E ZF20)
AL S45C / BEA SZARILLAL (BEA) 274 e
= =
U] | AE 845C / IE=3UM SZRR|LIAL (SUSXM7) 27K
M | A2 S45C / 2w L= SZFILAF (SUSKMY) 274 SCSS0308
[N | A8 s45C / Ugagea SZIRILEAF (SUSXM7) 274 LS RIS, L S, = S S
[s] | sus304 SZBR|LIAL (SUSXM7) 27
Al | 2015 A2017 / - SZBR|LIAL (SUSXM7) 27K
Heimm
- i x
o
1Y T
<
x
|
‘L/2
L+0.1
EED)
®B ER
+0.03
®3~6 | 1007
+0.05
¢8~45 | 1007
o50-120] 1908 )

E 712 ‘ IWATA Set Collar Good Solution Leads To a Great Quality...



SPL

FEISES
Wz | = | o HEA . s5= | B T
o8| L |on| W | X |Y s s %;w.' 55" | bk | aBea | SUS304 | A2017
] N [s] [a]

3| 8| 151 | 45| 3| M3x8 |SCSS 0308
4| 8| 151 | 45| 3| M3x8 |SCSS 0408
5| 8| 201 | 55| 4| M3x10|SCSS0508]]
10| 20 |1 | 6 | 4| M4x10/SCSS0510]
6| 81 20[1 | 6 | 4 M3x10|SCSS0608]]
10| 20 |1 | 6 | 4| M4x10/SCSS0610]
8| 25 15| 8 | 5| M3x 10 SCSS 0808 ]
o | 10| 25 (15| 8 | 5| M4 x12|SCSS0810]
12| 28 | 15| 85| 5| M5x 16/SCSS 0812
15| 30 [ 15| 9 | 5| M6 x 15|SCSS 0815L]
10 | 30 15| © | 5| M4 x12|SCSS1010(]
10| 12| 30 [15] 9 | 5| M5 x 16|SCSS 1012
15 | 35| 15|10 | 6 | M6 x 18|SCSS 1015L]
10 | 30 [ 1510 | 5| M4 x 12|SCSS 1210]
12 [ 12 | 30 | 1.5|10 | 5| M5 x 16|SCSS 1212[]
15| 35 | 15|11 | 6| M6 x 18|SCSS 12150
15 10| 30 [1.5/10 | 5| M4 x 12]SCSS13100]
15| 35 | 15|11 | 6| M6 x 18|SCSS1315(]
10 | 32 | 15|11 | 6| M4 x 12/SCSS 15100
15| 12| 35 | 15[12 | 6| M5 x 16|SCSS 1512
15 | 40 | 15|13 | 8 | M6 x 20|SCSS 1515L]
10 | 35 | 15|12 | 6| M4 x 12|SCSS16100]
16| 12| 35 | 15[12 | 6| M5x 16|SCSS 1612
16 | 40 [ 1513 | 8 | M6 x 20|SCSS 1615L]
17 | 15| 40 | 15|13 | 8 | M6 x 20|SCSS 1715
18 | 15| 45 | 15[15 | 8 | M6 x 20|SCSS 1815
10 | 40 | 15|14 | 7 | M4 x 16SCSS 20100
20 12 40 | 1.5 |14 7 | M5 X 16 |SCSS 2012[ ]
15 | 45 | 15|15 | 8 | M6 x 20|SCSS 2015[]
oo |12 | 45 [15[17 | 7| M5 x 16]SCSS2512]
15| 50 | 15|18 | 10 | M6 x 25 SCSS 2515
30 | 15 | 55 | 15|20 | 10 | M6 x 25 |SCSS 30150
35 | 15| 60 |2 |23 | 12 | M6 x 25 SCSS 3515
40 | 18 | 70 |2 |26 | 13 | M8 x 30 SCSS 4018[]
45| 18| 75 |3 |28 | 14 | M8 x 30 SCSS 4518
50 | 22 | 85 |3 |32 | 16 |M10 x 35SCSS 5022
55 | 22 | 90 |3 |34 | 18 |M10 x 35 SCSS 5522
60 | 22 | 95 |3 |37 | 18 |M10 x 35 SCSS 6022
65 | 25 [105 |5 |40 | 18 |M12 x 40 SCSS 65250
70 | 25 | 110 |5 |43 | 18 |M12 x 40 SCSS 7025
75 | 25 | 115 | 5 |45 | 20 |M12 x 40 SCSS 7525
80 | 32 [130 |5 |50 | 22 |M16 x 50 SCSS 8032
90 | 32 |140 |5 |55 | 24 |M16 x 50 SCSS 9032
100 | 36 [ 150 | 5 |60 | 26 |M16 x 50 |SCSS 100360]
110 | 36 |170 | 5 |70 | 28 |M16 x 50 SCSS 11036L]
120 | 36 |180 | 5 |75 | 30 |M16 x 50 SCSS 12036L]

www.spctech.co.kr

IWATA Set Collar

713 B3




e
I+
<
L

Standard Set Collar

2

’.
diwarta

Standard @
Set Collar

- ABICIEMEZE} S22} MT|0lEZiEte] = HErI) LIRF0| 7t Ha:

Sx
el

— ARMCIE S3EII0 2ELIAIZEII0] MEH 2.

— SXIA

o e |

SHGLRES, SUS 371A] Erl.
i

720 |IWATA Standard Set Collar

L ga~gdo

I SUSO SREHLIAES 37 b sasc

L2 ¢6~450

1 [ 845C SUS304)
LA g6~¢50 |

Good Solution Leads To a Great Quality...




5PC

s 3E 25 IZ fﬂEEHEEtEE} SCAEH E_I.E F

Standard @
Set Collar A

L=+0.1
L2 L2
- AEl T H
b5 k=) = o =
RoHS &&= S45C
|
A, [24E] H
@ sugge | | | -
sussod 2t Sl g2 | |
ol & @
. - e @
C1
Ciig 3~25 CO5
$28~40 C1.0
Corg 3~10 CO.2
of $12~25 C0.5
$28~40 C1.0
e = MxE | oz | zEUM = N
4B H8 | L+01 | 4d1 | gD=0A1 M == ol
4 8 12 YeM4 X4 SC0408N
5 8 - 14 YeMaX 4 SC0508N
6 10 - 16 YeM4X4 SC0610N
8 10 13 18 M4 X4 SCO810N
10 10 16 20 M4 X 4 SC1010N
12 10 20 26 M5X6 SC1210N
13 10 20 26 M5X6 SC1310N
14 12 20 26 M5X6 SC1412N
15 12 24 28 M5X6 SC1512N
16 12 24 28 M5X6 SC1612N
17 12 26 32 M6X6 SC1712N
18 15 29 32 M6X6 SC1815N
20 15 29 32 M6X6 SC2015N
22 18 34 38 M8 X8 SC2218N
25 18 38 42 M8 X8 SC2518N
30 20 42 49 M8 X8 SC3020N
35 20 47 59 M8 X8 SC3520N
40 22 55 72 M10X12 SC4022N

YeE TFLAPH 712 =0 UELICH

721 P}

www.spctech.co.kr IWATA Standard Set Collar




"
diwarta

s =

AERNCIE
MEZz}

SCSAHHCIE &8k

Standard

Set Collar

= AEl L=
RoHS M&HE =
sa5C )
s fil @
Csln-'“ [=]
[B4E he
S2x|2E
(SUS304) 174
i
C:¢ 3~25 C05
L+0.1 $30~40 C1.0
0
L = Q| TXLEA} =
y5 0 e O - S I L O R R S A S| szaxize EH Fe7lsEe
4 8 15 3.4 3] 1 4.5 8] 4.5 M3XP 0.5 M3X8 SCS0408N
5 8 20 3.4 3 1 6 4 7 M3XP 0.5 M3X10 SCS0508N
6 8 20 3.4 8 1 6 4 7 M3XP 0.5 M3X10 SCS0608N
8 8 25 3.4 3 1.5 8 5 7 M3XP 0.5 M3X10 SCS0808N
10 10 30 4.5 BY5 1.5 9 5 11 M4XP 0.7 M4X12 SCS1010N
12 10 30 4.5 3.75 1.5 10 5 11 M4XP 0.7 M4X12 SCS1210N
13 10 30 4.5 BN 1.5 10 5) 11 M4XP 0.7 M4X12 SCS1310N
15 10 32 4.5 3.75 1.5 11 6 11 M4XP 0.7 M4X12 SCS1510N
16 10 85 4.5 3.75 1.5 12 6 13 M4XP 0.7 M4X12 SCS1610N
20 10 40 4.5 3.75 1.5 14 7 15 M4XP 0.7 M4X16 SCS2010N
25 12 45 55 4.5 1.5 17 7 18 M5XP 0.8 M5X16 SCS2512N
30 15 55 7 6 1.5 20 10 - M6XP 1.0 M6X25 SCS3015N
B85 15 60 7 6 2 23 12 M6XP 1.0 M6X25 SCS3515N
40 18 70 9 7 2 26 13 M8XP1.25 M8X30 SCS4018N
e Standard
Set Collar
- Al ]
RoHS XSk
S S45C -
o
H| o
&33204 ) % e
afinn ™ 4 [E4E]
y S21RIZE
_ m (8US304) 27
L+0.1 C:¢ 3~25 C0.5
$30~40 C1.0
L = oA THELIA =
1B BB, e | r | w | x| v | 2B guuyze Zd 3271528
4 8 15 3.4 3 1 4.5 3 M3XP0.5 M3X8 SCSS0408N
5 8 20 3.4 3 1 55 4 M3XP0.5 M3X10 SCSS0508N
6 8 20 3.4 & 1 6 4 M3XP0.5 M3X10 SCSS0608N
8 8 25 3.4 3 1.5 8 5 M3XP0.5 M3X10 SCSS0808N
10 10 30 4.5 BN 1.5 9 5) M4 XP0.7 M4X12 SCSS1010N
12 10 30 4.5 3.75 1.5 10 5 M4 XP0.7 M4X12 SCSS1210N
13 10 30 4.5 BY5 1.5 10 5) M4 XP0.7 M4X12 SCSS1310N
15 10 32 4.5 3.75 1.5 11 6 M4 XP0.7 M4X12 SCSS1510N
16 10 35 4.5 3.75 1.5 12 6 M4 XP0.7 M4X12 SCSS1610N
20 10 40 4.5 3.75 1.5 14 7 M4 XP0.7 M4X16 SCSS2010N
25 12 45 5.5 4.5 1.5 17 7 M5XP0.8 M5X16 SCSS2512N
30 15 55 7 6 1.5 20 10 M6XP1.0 M6X25 SCSS3015N
B85 15 60 7 6 2 23 12 M6XP1.0 M6X25 SCSS3515N
40 18 70 9 7 2 26 13 M8XP 1.25 M8X 30 SCSS4018N

E 722 ‘IWATA Standard Set Collar

Good Solution Leads To a Great Quality...



5PC

SnaR)  F 3=

HH

-

m
H
re

og‘(“ 01

\*Q{s |
e
Ziek
S

g

$D=+0.1

4B

| ‘ |

[ i\

I

@‘ |

2R

L/2|L/2
L*0.1 C:¢ 6~25 C0.5
$30~50 C1.0
45 |Lzot|sozon| #9 | R | W [ x|y | A | S | Rop | TGN SANRES 2 ¥ 2271582
6 8 20 3.4 3 1 6 6 3.5 13 |M3XP0.5| M3X10 | SCS0608MP2
10 20 45 | 3.75 1 6 6 3.5 13 |[M4XP0.7| M4X10 | SCS0610MP2
8 25 3.4 3 1.5 8 9 4.5 16 |M3XP0.5| M3X10 | SCSO0808MP2
8 10 25 45 | 375 | 15 8 9 4.5 18 |M4XP0.7| M4X12 | SCS0810MP2

12 28 55 | 45 15 | 85 10 515 18 |M5XP0.8| M5X16 | SCS0812MP2
10 5.5 20 |M6XP1.0| M6X15 | SCS0815MP2
11 5.5 20 |M4XP0.7| M4X12 | SCS1010MP2
11 5.5 20 |M5XP0.8| M5X16 | SCS1012MP2

125 | 6.6 24 |M6XP1.0| M6X18 | SCS1015MP2
11 55 22 |M4XP0.7| M4X12 | SCS1210MP2
11 515 22 |M5XP0.8| M5X16 | SCS1212MP2

125 | 6.6 24 |MeXP1.0| M6X18 | SCS1215MP2
11 4.5 22 |M4XP0.7| M4X12 | SCS1310MP2

125 | 6.6 24 |M6XP1.0| M6X18 | SCS1315MP2
11 45 24 |M4XP0.7| M4X12 | SCS1510MP2
13 5.5 26 |[M5XP0.8| M5X16 | SCS1512MP2
13 6.6 28 |M6XP1.0| M6X20 | SCS1515MP2
13 4.5 25 |M4XP0.7| M4X12 | SCS1610MP2
13 5.5 26 |[M5XP0.8| M5X16 | SCS1612MP2
13 6.6 28 |M6XP1.0| M6X20 | SCS1615MP2
15 5.5 30 |M4XP0.7| M4X16 | SCS2010MP2
15 5.5 30 |M5XP0.8| M5X16 | SCS2012MP2
15 6.6 34 |M6XP1.0| M6X20 | SCS2015MP2

36 |M5XP0.8| M5X16 | SCS2512MP2

10 30 45 | 375 | 15 ©

10 30 45 | 375 | 15 10
12 12 30 5.5 4.5 1.5 10

10 30 45 | 375 | 15 10

10 32 45 | 375 | 15 11
15 12 35 5.5 4.5 1.5 12
15 40 7 6 1.5 13
10 35 45 | 375 ] 15 12

10 40 45 | 38375 | 15 14
20 12 40 5.5 4.5 1.5 14

-
[¢;]
w
(&)
~
o
-
(&)1
-
-
XNV |ojgoaafoganaoold|s~

—
N
N
[6;]
[6;]
[6;]
N
[6;]
-
(6]
—
J
N
~
(o]
[6;]
[6;]

25 15 50 7 6 1.5 18 10 18 6.6 38 |M6XP1.0| M6X25 | SCS2515MP2
30 15 55 7 6 1.5 20 10 - 6.6 44 [M6XP1.0| M6X25 | SCS3015MP2
35 15 60 7 6 2 23 12 - 6.6 48 |M6XP1.0| M6X25 | SCS3515MP2
40 18 70 9 7 2 26 13 - 56 |M8XP 1.25 M8X30 | SCS4018MP2
50 22 85 11 9 3 32 16 = 11 68 |M10XP 1.,5M10X35| SCS5022MP2
www.spctech.co.kr IWATA Standard Set Collar| 723 a




E 724 ‘IWATA Standard

- A £
s SCS=A &} eusse
AE| £ H
S45C
B
[R#4E]
SZUURIEE
(S2HA) 171
Agl
S45C
[R&E2
SUURIEE
(SUS304) 174 Y
PCTII ®$30-50 c1o
SUS304
[R&E2
SUURIEE
(SUS304) 174
ngg, fm R X |y | A ﬁ'ﬂ” PCD 13’;}” SAM SHHL AT SUS304  |3mjsEe
6 |8 g 6 | 4 | 6 |WX05| 12 |M3XP05 SCS0608CN2 SCS0608MN2 SCS0608SN2
10 3.75 6 | 4 | 6 |NX05| 13 |M4XPOT $CS0610CN2 $CS0610MN2 SCS0610SN2
8 3 8 | 5 | 9 |MX07| 14 |[M3XP05 SCS0808CN2 SCS0808MN2 SCS0808SN2
g |10 3.75 8 | 5| 9 |WX07| 18 [MaXPo7 SCS0810CN2 $CS0810MN2 $CS0810SN2
12 45 8.5| 5 | 10 |N5X08| 18 |MsXP08 SCS0812CN2 SCS0812MN2 SCS0812SN2
15 6 9.5| 5 | 10 |M5X08| 20 |MeXP10 SCS0815CN2 $CS0815MN2 SCS0815SN2
10 3.75 9 | 5 | 11 |W5X08] 20 [M4xP07 SCS1010CN2 SCS1010MN2 SCS1010SN2
10 | 12 4.5 9 | 5 | 11 |W5X08| 20 |M5XPO0S8 SCS1012CN2 SCS1012MN2 SCS10125N2
15 6 11 | 6 |[12.5(M6X10| 24 [M6XP1.0 SCS1015CN2 SCS1015MN2 SCS10155N2
10 3.75 10 | 5 | 11 |M5X08| 22 [M4XP07 SCS1210CN2 SCS1210MN2 $CS1210SN2
12 | 12 4.5 10 | 5 | 11 [M5X08] 22 |[M5XP08 SCS1212CN2 SCS1212MN2 SCS12125N2
15 6 11 | 6 |12.5(M6X10| 24 [M6XP1.0 SCS1215CN2 SCS1215MN2 SCS12155N2
13 |10 3.75 10 | 5 | 11 |WX07| 22 [M4XP07 SCS1310CN2 SCS1310MN2 SCS1310SN2
15 6 11| 6 |[12.5/l6X10] 24 |MeXP10 SCS1315CN2 SCS1315MN2 SCS1315SN2
10 3.75 11| 6 | 11 |[MX07| 23 |[M4XPOT SCS1510CN2 SCS1510MN2 SCS1510SN2
15 | 12 45 12 | 6 | 13 |I5X08] 26 [M5XP0S SCS1512CN2 SCS1512MN2 SCS15125N2
15 6 13 | 8 | 13 |M6X10| 28 |MeXP10 SCS1515CN2 SCS1515MN2 SCS1515SN2
10 3.75 12| 6 | 13 |MX07| 24 |M4XPOT SCS1610CN2 $CS1610MN2 SCS1610SN2
16 | 12 45 12| 6 | 13 |W5X08| 26 |M5XP0S SCS1612CN2 SCS1612MN2 SCS1612SN2
15 6 13 | 8 | 13 |M6X10| 28 |MeXP10 SCS1615CN2 SCS1615MN2 SCS1615SN2
10 3.75 14 | 7 | 15 |MX07| 28 |[M4XPOT $CS2010CN2 $CS2010MN2 $CS2010SN2
20 | 12 45 14 | 7 | 15 |I5X08] 30 |[M5XP0S $CS2012CN2 $CS2012MN2 $CS2012SN2
15 6 15| 8 | 15 |M6X10| 34 |MeXP10 $CS2015CN2 $CS2015MN2 $CS2015SN2
o5 12 5145 17 | 7 | 18 [M5X08| 36 |[M5XP0S $CS2512CN2 §CS2512MN2 $CS25125N2
15 7|6 18 | 10 | 18 |MeX10| 38 |[M6XP10 $CS2515CN2 $CS2515MN2 $C525155N2
30|15 716 20 | 10 | - [M6X10] 44 |MBXP1.0 SCS3015CN2 $CS3015MN2 SCS3015SN2
35| 15 7|6 23 | 12 M6X10| 48 |MEXP1.0 $CS3515CN2 $CS3515MN2 $CS35155N2
40 | 18 9|7 26 | 13| - |WX1% 56 |BXP1.25 $CS4018CN2 $CS4018MN2 $CS4018SN2
50 | 22 11] 9 32 [ 16 | - |w0xi5 68 M10XP15 $CS5022CN2 $CS5022MN2 $CS5022SN2
Set Collar Good Solution Leads To a Great Quality...



